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#1-6 Sequence S WS scrambled answers (front) #11-18

42,02 0,6,12,18 : recursive explicit recursive

24,21,-16,-9  3,9,21,45
7911915519 25598,11 340’32393069293

: explicit explicit recursive
'39'89'133'18 894909'4 E 3,9,19,33 0,1,3,6 -4,-2,-1,-.5
an=—-2n—2 a,=a,_, —13 an=a, | —2 4 =-—13n+97
a1 =84 ay=—4
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11.1 Mathematical Patterns scrambled answers (Seq 5 back)

Ex #1 & 2 4 4 4
12.4,—,—,— 129650a'63'12

T bvcssoscestcont o X 1 X
Ex #3 n—1 1 n-1
L =—](— — — an=4n+0
Geometric An 1(=1) An 16(2) '
Arithmetic 1
Geometric

an=a,_, +4 = — an=a,_ ;"3
Neither no ol An=ay-1 1 " =19




